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Geometry H
Section 7.3 = 7.4 Quiz Review

Solve for the indicated variables. Write your answers in simplest radical form when necessary.
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7. The legs of an isosceles triangle are each 6 cm. The Iength of the base is 8 cm. Find the length of

the altitude to the base. Round to the nearest hundredth.
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8. Aballoon rises to the ceiling of a gymnasium. You want to find the distance from the ground to
the balloon. You use a cardboard square to line up the balloon and the ground. Your friend
measures the vertical distance from the ground to your eye and the distance from you to the
gym wall. Approximate the distance from the ground to the

balloon.
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Find the value of each variable. Leave your answers in simplest radical form.
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19. Find the perimeter of ‘%fr)QR . Write your answer in simplest radical form.
SIu
s

ofv ®
\0 X
600
? © hy') long
Y hyp q0:-W X 230
hyp=short-3  fong=short 3 v = ; /103
longz short -3 -short- )
y=1od3-d P T long= short hyp:shor 30

m %:10(3) %t\f? w: 10-4 P Y = 2073 Q
[."_‘E’.) l——j \W’a°’ Perimettr= 20410 +30 +a0¥3 = {po+20V3
2210

unitg

20. A design is formed by joining isosceles right triangles and 30°-60°-90°
right triangles as shown in the diagram. If a leg of the isosceles right

triangle is 15 cm, what is the length of the hypotenuse of the 30°-60°-

90° triangle?
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21. The length of the altitude to the base in an equilateral triangle is 15 ft. Find the perimeter of the

triangle. long=shory J3  hyp=short: a
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22. A gardener has a square vegetable garden. The length of the garden’s diagonal is 25 ft. Sketch a

picture of this situation and find the area and the perimeter of the garden. Round your answer
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to two decimal places.
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23. The diagram below shows the placement of two support wires for an antenna tower and some
of the dimensions and angle measures resulting from their placement.

a. What is the measure, in degrees, of angle E?iec"'

b. What is the length, in feet, of the support wire of the
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larger triangle?
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e. What is the length, in feet, of the height of the antenna tower from point Q to point F?
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Answers: 1) x=8, y= 4\/3 2)x=2, y= 4\/5 3)x=14/3 4)x=450/17,y=128/17, z=240/17
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12)y=—m = 13)2 14)x=15,y=15V3  15) 3\/5 16)w=—3—,x=5,y=5\/§,z=T

17)a=4, b=2~/3 18) p=4/3, =43, r=8, s=4/6 19) 60+20+/3 units 20)30cm 21) 30V/3 ft
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